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Note : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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All questions carry equal marks i.e. 15 marks each.
Altempt any five questions.
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In the context of Mahalanobis develobment strategy, explain the rationale behind promoting
public sector in Indja since 1951. What impact did this strategy have on Indja’s economic

growth during the Nehru era ?
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. Do you agree with t.he. view_t!uli comipuous acceleration_in [n.c_:tia’s G.Dé’ durihg the period
1950-2008 can be attributed to incr.easc domcslic savings and investments ? Highlight
some of the-challenges tha;t need to be addressed if the gro:.vth momentum is o be
mgainal. |
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Cn’ticall)-r examine the contention that wh'ile, theoretically, the benefits of age structure change
in India are strong, the empirical case for the .pcmeived benefits of demographic dividend is

quite shaky‘ for India.
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The nutrition situation in India is ﬁoth extremely alarming and not. being addressed with
adequate resolve anq resources Discus's”.‘
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“The probiem of poor quality of school education in India can be resolved only Iin the ﬁublie

domain: the private schools. at best, can play only a supportive role.”” Do you agree ? Give

reasons in support of your view.
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Briefly discuss the broad. trends in labour absorption in‘th_e Indian economy in recent tinics._
What .are the comin‘w'ng challenges to labour market modernisation and its div.crsifica.tion in
| India ?
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What are the main differences betwecn. the methodology adopted by Ten.dulkar
Committee to arrive at the poverty line estimates and the earlier methodology ? In the
context of changing tveﬁd of po.verty in India, discﬁés the impact that urban economic
growth seems t6 have had on the rural poor before and 'aftJ;r economic liberalization in
India.
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Compare and contrast India’s develq':ment experience with. that of other South Asian and BRIC
countries. _
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